ber 1 is compulsory. Solve any three out o

Hgrams,

N.B; 1. Question num

in
1
10
15
5
10

bl

T e

€) Explain the control word of 8255-PPLL &

8

I, mode 1 1o ereate the d:lay.,ﬁﬁ'

e

M

PSEN
EA

2, Drraw neat d

i)

ii) 5
d) Write & program for 8051 m[c;'umutrulinra_"l}t&-

i

Assume XTAL =11.0592
Draw and gitplii

Show the s

©) Explain function of the following pins of 8051.

a) Draw and Explain PCON and 53C
b): Write n C program to topgle all

2)

8) Compare RISC & CISC CPU architectures
b)

b) Sketch the Execution Unit of 8086 CPU.

Q2
Q.3




